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Time : Three ro,E.m.

13.

14.

15.

16.

- Solve :

.. Maximum : 75 marks
PART A — (10 x 2 = 20 marks) -

Answer any TEN questions.

_ Write the-expansion of log(l +x).

log(1 + x) v e fene ﬂ@@.m.

Write Lagrange’s formula.
Qevdgmepgdudlem eumiiLmepL eT(DGI5. .
Défine orthogonal matrix.

suepTLII : @m@@m@ n@_mam

State Cayley Hamilton theorem.
AETIRY @:@%F% Cashmsans eT(Lpgl5.

Find the sum of the eigenvaluesof | 1 0 3 |
i ) L =9 = =3

12.

1 2 -2

1 0 3 |arélply gpmsaie sa(isd srars.

29 =48

1.B:3c \

PART B — (5-x 5 = 25 marks) 17.

Answer any FIVE questions.

_ - log,2 ‘
Prove that logge —logge+logy,e—....= 18.
L . log, 3 ,
og, 2
log,e —logge+logye—....= 10g, 2 ere [BlersL9.
Cp log, 3
201 19.
Find the eigenvaluesof [0 2 O
1 0 2
2 01
0 2 0|erAply epaEsEmens ses.
1 0 2
If the roots of x®+ px®+qx+r=0 are in AP,
prove that 2p° —~9pg +27r =0. .
20.

xd+pxlaqr+r=0ar pporsd &l (H50sTL M6

(A.P.) siewpgTed, 2p® -9pq +27r =0 eren Hem Q.

x® —4x® —8x +18 =0, given that two om its

roots are equal.

x®-4x® -3x+18=067 @ ePQEEET LD creaile
SGONS 155,
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10.

11.

el =
A B g

Form the cubic mncmﬁob two of whose roots are

1,3-y-2

1,3-4v-2g @@ (pomGeTTEs Geram. Wl
FLOGTUTL_ N < ENLDES.

Diminish the roots of the
2% —7x* +3x-5=0 by 2.

2x% —Tx* +3x-5=0a1 qpomsmer 2
SjeuWUGUMID FoeTUTLenié SreaTs.

equation
GDES!

tand _ 2524 , prove S._mn 9= radians.
6 2523 29 |
tang 2524

.Hlmqw %HI@ . _b
@ 2523 0@ qﬁeﬂa@@@ ,

If

Prove that cosh? x —sinh?x=1.

cosh® z —sinh® x = 1 eren B9,
Find Log:i.
Logi g& snamns.

State Leibnitz theorem.

Aadlerev Cshmsms 6T (Psis.

Find the radius of curvature of the curve xy =1 at
the point (1,1).

xy =1 eemp euamereuenys@ (1,1) erayd Lemafluflen
BUEDET YLD SHITEHTS.
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’

Prove that 2°cos® @ = cos68 + 6cos46 +15cas26 +10.

25¢c0s" 8 = c0s66 +6.cos46 +15c0s26 +10 erar Hlemd.

wwo<m Emﬁ dmbr x= IHom L Ru
: 2 LSgs

1 1+x
d—-x

u et Blem4l.

If y =sin(msin! x), prove that

- Rmvv\iw -@2n+)xy, ., - (n® -m?) ¥, =0
y= mHQJ sin”! x) erafléd

A,N.: +1)xy,. — A.:N

G. - va.&im s
erem BlepLal.

|.~‘3\Nv.‘v\:\“0

PARTC—(3x10=30 Bmawmv.
Answer any THREE questions.

Given : log,,300=24771; log,,304 =2.4829;
log,, 305 =2.4843;  log,,307 = 2.4871,
Lagrange's formula, find log;, 301.

using

log,, 300 = 2.4771;log,, 304 = 2:4829;
log,, 305 = 2.4843; log,, 307 = 2.4871

aafléd  @symErlluien  eumiLiLm_eni CE@E@@%
log,, 301 e wéllienus srems.
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22.

23.

Verify Cayley Hamilton theorem for

(1 =1 2) :

A=[-2 1 3 |and hencefind A7
(3 2 -3

_ (1.--1 2

A=1-2 1 3 (4 Qswel @i er Cainsems
3 2 -3

sflunisg, A™ %F_,B STERTE.
Solve : 6x° +11x* - 33x® - 33x% +11x+6=0..

Sise: 6x° +11x" —33x" ~383x% +11x+6=0.

If , mpb (A+iB)=x+iy, -’ prove that’
2 2 . 2 2 .
2 Y Jand—F 2 g
sin“ A" cos” A . cosh® B sinh® B
2 2

-y N., =T AN ”H“
sin“A cos*A

sin(A+iB)=x+iy erafl

IR St
cosh’B  sink’B. PO
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xl+ytr2t=alis —.

..RN+QN+NN .H.Q.m. ﬂ.mq\_,_ao RNQN_NN%.&DQE@ E%Dr_ e

L eraid &1 (05,

-

Bye!

24.,; Show that the .BmﬁBﬁB <wr_5 of x%y2%2%, Er

..Qm

27"

D.m

27
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